## SOUTH DAKOTA DEPARTMENT OF TRANSPORTATION ABSTRACT OF BIDS RECEIVED 06/17/2020 LETTING CONTENTS

	ITEM	PROJECT NO.	COUNTY	TYPE OF WORK
	1.	BRF 6332(02) (PCN 05LX)	McCook	Structure (4 - 10' x 9' RCBC) & Approach Grading
	2.	PH 0010(140) (PCN 06C5)	Beadle, Brookings, Brown, Codington, Day, Grant, Spink	Reflective Signal Backplates
*	3.	P 0013(53) (PCN 06EJ)	Hand, Spink	Culvert Cleaning & Lining
*	4.	NH-P 0011(114) (PCN 06E9)	Brown, Day, Edmunds, Faulk, Marshall, Spink	Culvert Cleaning & Lining

<sup>\* 3 -</sup> Indicates combination bids

<sup>\* 4 -</sup> Indicates combination bids

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

√ermillion River

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

County: McCook

Bidder:

NOLZ DRAGLINE & CONSTRUCTION

COMPANY, INC

Bidder:

07/16/2020

Journey Group Companies

Page 1 of 9

Coun	ty: McCook						
No.	Item No. De	escription	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
2	009E3200 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
3	110E1010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
4	110E1690 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
5	110E1693 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
6	110E1700 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
7	120E0010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
8	120E0600 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
9	230E0010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
10	250E0030 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
11	260E1010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
12	420E0200 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
13	421E0200 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
14	460E0120 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
15	480E0100 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
16	600E0100 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
17	634E0110 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
18	634E0120 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
19	634E0275 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
20	634E1002 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
21	700E0310 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
22	734E0010 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
23	734E0102 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
24	734E0154 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
25	734E0165 E	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

Vermillion Rive

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

Bidder:

NOLZ DRAGLINE & CONSTRUCTION

COMPANY, INC

Bidder:

07/16/2020

Journey Group Companies

Page 2 of 9

Count	ty: McCook	опаснае (т. т. ж. с. к. одо) их фр. сасы Опаснад					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
26	734E0510	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
27	734E0604	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
28	734E0610	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
29	734E0620	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
30	734E0900	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
31	831E0110	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
32	009E0010	Mobilization	1.000 LS	\$59,507.00	\$59,507.00	\$99,892.56	\$99,892.56
33	009E3200	Construction Staking	1.000 LS	\$5,727.00	\$5,727.00	\$4,260.00	\$4,260.00
34	110E1010	Remove Asphalt Concrete Pavement	869.100 SqYd	\$7.00	\$6,083.70	\$6.59	\$5,727.37
35	110E1690	Remove Sediment	1.000 CuYd	\$0.01	\$0.01	\$23.80	\$23.80
36	110E1693	Remove Erosion Control Wattle	160.000 Ft	\$1.00	\$160.00	\$1.08	\$172.80
37	110E1700	Remove Silt Fence	500.000 Ft	\$0.10	\$50.00	\$0.10	\$50.00
38	120E0010	Unclassified Excavation	2,831.000 CuYd	\$9.80	\$27,743.80	\$15.35	\$43,455.85
39	120E0600	Contractor Furnished Borrow Excavation	269.000 CuYd	\$21.00	\$5,649.00	\$10.58	\$2,846.02
40	230E0010	Placing Topsoil	457.000 CuYd	\$6.80	\$3,107.60	\$8.45	\$3,861.65
41	250E0030	Incidental Work, Structure	1.000 LS	\$16,200.00	\$16,200.00	\$27,247.07	\$27,247.07
42	260E1010	Base Course	453.600 Ton	\$34.00	\$15,422.40	\$28.02	\$12,709.87
43	420E0200	Structure Excavation, Box Culvert	138.000 CuYd	\$43.00	\$5,934.00	\$34.87	\$4,812.06
44	421E0200	Box Culvert Undercut	369.000 CuYd	\$121.00	\$44,649.00	\$70.25	\$25,922.25
45	460E0120	Class A45 Concrete, Box Culvert	274.900 CuYd	\$831.00	\$228,441.90	\$699.39	\$192,262.31
46	480E0100	Reinforcing Steel	41,700.000 Lb	\$1.13	\$47,121.00	\$1.41	\$58,797.00
47	600E0100	Type I Field Laboratory	1.000 Each	\$4,500.00	\$4,500.00	\$14,938.85	\$14,938.85
48	634E0110	Traffic Control Signs	68.000 SqFt	\$4.00	\$272.00	\$4.20	\$285.60
49	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$1,000.00	\$1,000.00	\$1,932.94	\$1,932.94
50	634E0275	Type 3 Barricade	8.000 Each	\$100.00	\$800.00	\$108.50	\$868.00

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

/ermillion Rive

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

County: McCook

Bidder:

NOLZ DRAGLINE & CONSTRUCTION

COMPANY, INC

Bidder:

07/16/2020

Journey Group Companies

Page 3 of 9

Coun	ty. MCCOOK							
No.	Item No.	Description	Qty Unit		Unit Price	Amount	Unit Price	Amount
51	634E1002	Detour and Restriction Signing	419.000	SqFt	\$11.00	\$4,609.00	\$10.76	\$4,508.44
52	700E0310	Class C Riprap	124.200	Ton	\$47.00	\$5,837.40	\$65.50	\$8,135.10
53	734E0010	Erosion Control	1.000	LS	\$1,200.00	\$1,200.00	\$223.18	\$223.18
54	734E0102	Type 2 Erosion Control Blanket	3,400.000	SqYd	\$1.50	\$5,100.00	\$1.60	\$5,440.00
55	734E0154	12" Diameter Erosion Control Wattle	440.000	Ft	\$3.00	\$1,320.00	\$3.20	\$1,408.00
56	734E0165	Remove and Reset Erosion Control Wattle	110.000	Ft	\$1.50	\$165.00	\$1.61	\$177.10
57	734E0510	Shaping for Erosion Control Blanket	571.000	Ft	\$0.50	\$285.50	\$0.52	\$296.92
58	734E0604	High Flow Silt Fence	500.000	Ft	\$3.20	\$1,600.00	\$3.30	\$1,650.00
59	734E0610	Mucking Silt Fence	35.000	CuYd	\$0.01	\$0.35	\$33.63	\$1,177.05
60	734E0620	Repair Silt Fence	125.000	Ft	\$0.10	\$12.50	\$0.10	\$12.50
61	734E0900	Temporary Diversion Channel for Fish Passage	1.000	Each	\$23,225.00	\$23,225.00	\$24,500.24	\$24,500.24
62	831E0110	Type B Drainage Fabric	130.000	SqYd	\$4.00	\$520.00	\$6.52	\$847.60

Total Bid Amount \$516,243.16 \$548,442.13

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

Bidder:

DAKOTA CONTRACTING

CORPORATION

Bidder:

07/16/2020

BX CIVIL & CONSTRUCTION, INC.

Page 4 of 9

	ty: McCook	ii. Structure (4 - 10 x 9 NCBC) & Approach Grading					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
2	009E3200	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
3	110E1010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
4	110E1690	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
5	110E1693	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
6	110E1700	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
7	120E0010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
8	120E0600	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
9	230E0010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
10	250E0030	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
11	260E1010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
12	420E0200	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
13	421E0200	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
14	460E0120	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
15	480E0100	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
16	600E0100	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
17	634E0110	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
18	634E0120	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
19	634E0275	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
20	634E1002	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
21	700E0310	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
22	734E0010	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
23	734E0102	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
24	734E0154	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
25	734E0165	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

√ermillion River

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

County: McCook

Bidder:

DAKOTA CONTRACTING

CORPORATION

Bidder:

07/16/2020

BX CIVIL & CONSTRUCTION, INC.

Page 5 of 9

Count	ty: McCook						
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
26	734E0510	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
27	734E0604	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
28	734E0610	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
29	734E0620	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
30	734E0900	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
31	831E0110	Deleted Item	0.000 Del	\$0.00	\$0.00	\$0.00	\$0.00
32	009E0010	Mobilization	1.000 LS	\$55,000.00	\$55,000.00	\$58,069.80	\$58,069.80
33	009E3200	Construction Staking	1.000 LS	\$6,500.00	\$6,500.00	\$7,000.00	\$7,000.00
34	110E1010	Remove Asphalt Concrete Pavement	869.100 SqYd	\$6.80	\$5,909.88	\$10.00	\$8,691.00
35	110E1690	Remove Sediment	1.000 CuYd	\$28.25	\$28.25	\$100.00	\$100.00
36	110E1693	Remove Erosion Control Wattle	160.000 Ft	\$1.13	\$180.80	\$1.50	\$240.00
37	110E1700	Remove Silt Fence	500.000 Ft	\$0.11	\$55.00	\$0.50	\$250.00
38	120E0010	Unclassified Excavation	2,831.000 CuYd	\$8.50	\$24,063.50	\$22.00	\$62,282.00
39	120E0600	Contractor Furnished Borrow Excavation	269.000 CuYd	\$16.95	\$4,559.55	\$25.00	\$6,725.00
40	230E0010	Placing Topsoil	457.000 CuYd	\$4.55	\$2,079.35	\$7.50	\$3,427.50
41	250E0030	Incidental Work, Structure	1.000 LS	\$12,500.00	\$12,500.00	\$12,500.00	\$12,500.00
42	260E1010	Base Course	453.600 Ton	\$28.00	\$12,700.80	\$22.00	\$9,979.20
43	420E0200	Structure Excavation, Box Culvert	138.000 CuYd	\$45.95	\$6,341.10	\$75.00	\$10,350.00
44	421E0200	Box Culvert Undercut	369.000 CuYd	\$110.35	\$40,719.15	\$80.00	\$29,520.00
45	460E0120	Class A45 Concrete, Box Culvert	274.900 CuYd	\$975.00	\$268,027.50	\$850.00	\$233,665.00
46	480E0100	Reinforcing Steel	41,700.000 Lb	\$1.40	\$58,380.00	\$1.75	\$72,975.00
47	600E0100	Type I Field Laboratory	1.000 Each	\$14,500.00	\$14,500.00	\$9,500.00	\$9,500.00
48	634E0110	Traffic Control Signs	68.000 SqFt	\$4.55	\$309.40	\$5.00	\$340.00
49	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$3,500.00	\$3,500.00	\$7,500.00	\$7,500.00
50	634E0275	Type 3 Barricade	8.000 Each	\$115.00	\$920.00	\$125.00	\$1,000.00

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

√ermillion River

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

County: McCook

Bidder:

DAKOTA CONTRACTING

CORPORATION

Bidder:

07/16/2020

BX CIVIL & CONSTRUCTION, INC.

Page 6 of 9

Coun	ty: IVICCOOK							
No.	Item No.	Description	Qty Unit		Unit Price	Amount	Unit Price	Amount
51	634E1002	Detour and Restriction Signing	419.000	SqFt	\$11.30	\$4,734.70	\$15.00	\$6,285.00
52	700E0310	Class C Riprap	124.200	Ton	\$48.00	\$5,961.60	\$85.00	\$10,557.00
53	734E0010	Erosion Control	1.000	LS	\$250.00	\$250.00	\$5,000.00	\$5,000.00
54	734E0102	Type 2 Erosion Control Blanket	3,400.000	SqYd	\$1.70	\$5,780.00	\$2.00	\$6,800.00
55	734E0154	12" Diameter Erosion Control Wattle	440.000	Ft	\$3.40	\$1,496.00	\$4.50	\$1,980.00
56	734E0165	Remove and Reset Erosion Control Wattle	110.000	Ft	\$1.70	\$187.00	\$4.50	\$495.00
57	734E0510	Shaping for Erosion Control Blanket	571.000	Ft	\$0.60	\$342.60	\$1.00	\$571.00
58	734E0604	High Flow Silt Fence	500.000	Ft	\$3.65	\$1,825.00	\$5.00	\$2,500.00
59	734E0610	Mucking Silt Fence	35.000	CuYd	\$5.65	\$197.75	\$12.50	\$437.50
60	734E0620	Repair Silt Fence	125.000	Ft	\$0.11	\$13.75	\$5.00	\$625.00
61	734E0900	Temporary Diversion Channel for Fish Passage	1.000	Each	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00
62	831E0110	Type B Drainage Fabric	130.000	SqYd	\$4.55	\$591.50	\$3.00	\$390.00

Total Bid Amount \$557,654.18 \$584,755.00

Letting Date: 06/17/2020

Item Nbr: 1 PCN: 05LX

Project No: BRF 6332(02)

Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the

Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading

Bidder:

INDUSTRIAL BUILDERS, INC

Bidder:

07/16/2020

Page 7 of 9

	ty: McCook	n: Structure (4 - 10' x 9' RCBC) & Approach Grading					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Deleted Item	0.000 Del	\$0.00	\$0.00		
2	009E3200	Deleted Item	0.000 Del	\$0.00	\$0.00		
3	110E1010	Deleted Item	0.000 Del	\$0.00	\$0.00		
4	110E1690	Deleted Item	0.000 Del	\$0.00	\$0.00		
5	110E1693	Deleted Item	0.000 Del	\$0.00	\$0.00		
6	110E1700	Deleted Item	0.000 Del	\$0.00	\$0.00		
7	120E0010	Deleted Item	0.000 Del	\$0.00	\$0.00		
8	120E0600	Deleted Item	0.000 Del	\$0.00	\$0.00		
9	230E0010	Deleted Item	0.000 Del	\$0.00	\$0.00		
10	250E0030	Deleted Item	0.000 Del	\$0.00	\$0.00		
11	260E1010	Deleted Item	0.000 Del	\$0.00	\$0.00		
12	420E0200	Deleted Item	0.000 Del	\$0.00	\$0.00		
13	421E0200	Deleted Item	0.000 Del	\$0.00	\$0.00		
14	460E0120	Deleted Item	0.000 Del	\$0.00	\$0.00		
15	480E0100	Deleted Item	0.000 Del	\$0.00	\$0.00		
16	600E0100	Deleted Item	0.000 Del	\$0.00	\$0.00		
17	634E0110	Deleted Item	0.000 Del	\$0.00	\$0.00		
18	634E0120	Deleted Item	0.000 Del	\$0.00	\$0.00		
19	634E0275	Deleted Item	0.000 Del	\$0.00	\$0.00		
20	634E1002	Deleted Item	0.000 Del	\$0.00	\$0.00		
21	700E0310	Deleted Item	0.000 Del	\$0.00	\$0.00		
22	734E0010	Deleted Item	0.000 Del	\$0.00	\$0.00		
23	734E0102	Deleted Item	0.000 Del	\$0.00	\$0.00		
24	734E0154	Deleted Item	0.000 Del	\$0.00	\$0.00		
25	734E0165	Deleted Item	0.000 Del	\$0.00	\$0.00		

#### 07/16/2020 Page 8 of 9 South Dakota Department of Transportation Abstract of Bids Letting Date: 06/17/2020 Bidder: Bidder: Item Nbr: 1 PCN: 05LX INDUSTRIAL BUILDERS, INC Project No: BRF 6332(02) Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading County: McCook **Unit Price Unit Price** No. Item No. Description Qty Unit Amount Amount 26 734E0510 Deleted Item 0.000 Del \$0.00 \$0.00 27 734E0604 Deleted Item 0.000 Del \$0.00 \$0.00 28 \$0.00 \$0.00 734E0610 Deleted Item 0.000 Del 29 734E0620 Deleted Item 0.000 Del \$0.00 \$0.00 30 734E0900 Deleted Item 0.000 Del \$0.00 \$0.00 31 831E0110 Deleted Item 0.000 Del \$0.00 \$0.00 32 009E0010 Mobilization 1.000 LS \$200,000.00 \$200,000.00 33 009E3200 Construction Staking 1.000 LS \$6,000.00 \$6,000.00 34 Remove Asphalt Concrete Pavement 869.100 SqYd \$6.00 \$5,214.60 110E1010 35 110E1690 Remove Sediment 1.000 CuYd \$22.00 \$22.00 36 110E1693 Remove Erosion Control Wattle 160.000 Ft \$1.00 \$160.00 37 110E1700 Remove Silt Fence 500.000 Ft \$0.10 \$50.00 38 120E0010 Unclassified Excavation 2,831.000 CuYd \$9.05 \$25,620.55 120E0600 Contractor Furnished Borrow Excavation 39 269.000 CuYd \$11.85 \$3,187.65 40 230E0010 Placing Topsoil 457.000 CuYd \$7.00 \$3,199.00 \$40,000.00 41 250E0030 Incidental Work, Structure 1.000 LS \$40,000.00 42 260E1010 453.600 Ton \$17.60 \$7,983.36 Base Course 43 420E0200 Structure Excavation, Box Culvert 138.000 CuYd \$300.00 \$41,400.00 44 421E0200 Box Culvert Undercut 369.000 CuYd \$85.00 \$31,365.00 45 460E0120 Class A45 Concrete, Box Culvert 274.900 CuYd \$1,100.00 \$302,390.00 46 480E0100 Reinforcing Steel 41,700.000 Lb \$2.00 \$83,400.00 47 600E0100 Type I Field Laboratory 1.000 Each \$12,000.00 \$12,000.00 48 634E0110 Traffic Control Signs 68.000 SqFt \$4.20 \$285.60 49 634E0120 1.000 LS \$1,100.00 \$1,100.00 Traffic Control, Miscellaneous

8.000 Each

\$105.00

\$840.00

50

634E0275

Type 3 Barricade

### 07/16/2020 Page 9 of 9 **South Dakota Department of Transportation** Abstract of Bids Letting Date: 06/17/2020 Bidder: Bidder: Item Nbr: 1 PCN: 05LX INDUSTRIAL BUILDERS, INC Project No: BRF 6332(02) Project Location: Structure on 245th St, 6.1 miles east of Center over the East Fork of the Desc of Construction: Structure (4 - 10' x 9' RCBC) & Approach Grading County: McCook Item No. Description Qty Unit **Unit Price** Amount **Unit Price** No. Amount 51 634E1002 **Detour and Restriction Signing** 419.000 SqFt \$11.00 \$4,609.00 700E0310 \$6,210.00 52 Class C Riprap 124.200 Ton \$50.00 \$210.00 53 734E0010 **Erosion Control** 1.000 LS \$210.00 54 734E0102 Type 2 Erosion Control Blanket 3,400.000 SqYd \$1.60 \$5,440.00 55 734E0154 12" Diameter Erosion Control Wattle 440.000 Ft \$3.15 \$1,386.00 56 734E0165 Remove and Reset Erosion Control Wattle 110.000 Ft \$176.00 \$1.60 57 734E0510 Shaping for Erosion Control Blanket 571.000 Ft \$0.55 \$314.05 58 734E0604 High Flow Silt Fence 500.000 Ft \$3.40 \$1,700.00 59 734E0610 Mucking Silt Fence 35.000 CuYd \$15.00 \$525.00 60 734E0620 125.000 Ft \$12.50 Repair Silt Fence \$0.10 61 734E0900 Temporary Diversion Channel for Fish Passage 1.000 Each \$111,200.00 \$111,200.00

130.000 SqYd

Total Bid Amount

62

831E0110

Type B Drainage Fabric

\$896,910.31

\$910.00

\$7.00

Letting Date: 06/17/2020

Item Nbr: 2 PCN: 06C5

Project No: PH 0010(140)

Project Location: Aberdeen Region

Desc of Construction: Reflective Signal Backplates

County: Beadle, Brookings, Brown, Codington, Day, Grant, Spink

Bidder:

MUTH ELECTRIC, INC.

Bidder:

07/16/2020

Hamm Contracting, LLC

Page 1 of 2

Coun	ty. Deaule, Dit	bokings, Brown, Codington, Day, Grant, Spink					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Mobilization	1.000 LS	\$28,000.00	\$28,000.00	\$25,000.00	\$25,000.00
2	634E0010	Flagging	100.000 Hour	\$28.99	\$2,899.00	\$28.99	\$2,899.00
3	634E0110	Traffic Control Signs	275.600 SqFt	\$0.50	\$137.80	\$1.00	\$275.60
4	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00
5	634E0275	Type 3 Barricade	2.000 Each	\$20.00	\$40.00	\$200.00	\$400.00
6	634E0420	Type C Advance Warning Arrow Board	1.000 Each	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00
7	635E6603	Backplate for 3 Section Signal Head	917.000 Each	\$165.00	\$151,305.00	\$180.00	\$165,060.00
8	635E6604	Backplate for 4 Section Signal Head	74.000 Each	\$216.80	\$16,043.20	\$250.00	\$18,500.00
9	635E6605	Backplate for 5 Section Signal Head	102.000 Each	\$281.00	\$28,662.00	\$310.00	\$31,620.00

Total Bid Amount \$263,087.00 \$275,754.60

### 07/16/2020 Page 2 of 2 **South Dakota Department of Transportation Abstract of Bids** Letting Date: 06/17/2020 Bidder: Bidder: Item Nbr: 2 PCN: 06C5 RINGGENBERG ELECTRIC, INC. Project No: PH 0010(140) Project Location: Aberdeen Region Desc of Construction: Reflective Signal Backplates County: Beadle, Brookings, Brown, Codington, Day, Grant, Spink No. Item No. Description Qty Unit Unit Price Amount Unit Price Amount 009E0010 Mobilization 1.000 LS \$31,000.00 \$31,000.00 1 2 \$28.99 \$2,899.00 634E0010 Flagging 100.000 Hour 3 634E0110 Traffic Control Signs 275.600 SqFt \$1.15 \$316.94 4 634E0120 Traffic Control, Miscellaneous 1.000 LS \$33,000.00 \$33,000.00 5 634E0275 Type 3 Barricade 2.000 Each \$150.00 \$300.00 6 634E0420 Type C Advance Warning Arrow Board 1.000 Each \$2,500.00 \$2,500.00 7 635E6603 Backplate for 3 Section Signal Head 917.000 Each \$184.00 \$168,728.00 8 \$17,538.00 635E6604 Backplate for 4 Section Signal Head 74.000 Each \$237.00

102.000 Each

Total Bid Amount

9

635E6605

Backplate for 5 Section Signal Head

\$286,881.94

\$30,600.00

\$300.00

Letting Date: 06/17/2020

Item Nbr: 3 PCN: 06EJ

Project No: P 0013(53)

Project Location: Various Locations Throughout the Huron Area

Desc of Construction: Culvert Cleaning & Lining

Bidder: Hydro Klean LLC Bidder:

07/16/2020

SUBSURFACE, INC.

Page 1 of 4

Coun	ty: Hand, Spin	k					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Mobilization	1.000 LS	\$2,500.00	\$2,500.00	\$6,300.00	\$6,300.00
2	110E0500	Remove Pipe Culvert	2.000 Ft	\$125.00	\$250.00	\$100.00	\$200.00
3	110E0510	Remove Pipe End Section	4.000 Each	\$62.50	\$250.00	\$350.00	\$1,400.00
4	110E1690	Remove Sediment	2.000 CuYd	\$125.00	\$250.00	\$50.00	\$100.00
5	110E7500	Remove Pipe for Reset	18.000 Ft	\$13.89	\$250.02	\$100.00	\$1,800.00
6	110E7510	Remove Pipe End Section for Reset	2.000 Each	\$125.00	\$250.00	\$400.00	\$800.00
7	450E5211	18" CMP Flared End, Furnish	4.000 Each	\$154.29	\$617.16	\$150.00	\$600.00
8	450E5212	18" CMP Flared End, Install	4.000 Each	\$154.29	\$617.16	\$150.00	\$600.00
9	450E8900	Cleanout Pipe Culvert	2.000 Each	\$250.00	\$500.00	\$1,700.00	\$3,400.00
10	450E8910	Cleanout for Culvert Treatment	4.000 Each	\$250.00	\$1,000.00	\$300.00	\$1,200.00
11	450E9000	Reset Pipe	18.000 Ft	\$13.89	\$250.02	\$125.00	\$2,250.00
12	450E9001	Reset Pipe End Section	2.000 Each	\$125.00	\$250.00	\$450.00	\$900.00
13	634E0010	Flagging	75.000 Hour	\$28.99	\$2,174.25	\$28.99	\$2,174.25
14	634E0110	Traffic Control Signs	356.000 SqFt	\$7.02	\$2,499.12	\$1.00	\$356.00
15	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$2,500.00	\$2,500.00	\$3,000.00	\$3,000.00
16	734E0010	Erosion Control	1.000 LS	\$500.00	\$500.00	\$3,600.00	\$3,600.00
17	734E0154	12" Diameter Erosion Control Wattle	200.000 Ft	\$2.25	\$450.00	\$3.00	\$600.00
18	734E0602	Low Flow Silt Fence	200.000 Ft	\$1.25	\$250.00	\$2.00	\$400.00
19	734E0610	Mucking Silt Fence	13.000 CuYd	\$57.69	\$749.97	\$10.00	\$130.00
20	734E0620	Repair Silt Fence	50.000 Ft	\$3.00	\$150.00	\$2.00	\$100.00
21	450E9518	18" Cured in Place Pipe	62.000 Ft	\$0.00	\$0.00	\$145.00	\$8,990.00
22	450E9718	18" Fold and Form PVC Liner Pipe	62.000 Ft	\$115.90	\$7,185.80	\$0.00	\$0.00
23	450E9518	18" Cured in Place Pipe	70.000 Ft	\$0.00	\$0.00	\$145.00	\$10,150.00
24	450E9718	18" Fold and Form PVC Liner Pipe	70.000 Ft	\$115.90	\$8,113.00	\$0.00	\$0.00
25	450E9526	30" Cured in Place Pipe	61.000 Ft	\$0.00	\$0.00	\$230.00	\$14,030.00

### 07/16/2020 Page 2 of 4 South Dakota Department of Transportation **Abstract of Bids** Letting Date: 06/17/2020 Bidder: Bidder: Item Nbr: 3 PCN: 06EJ Hydro Klean LLC SUBSURFACE, INC. Project No: P 0013(53) Project Location: Various Locations Throughout the Huron Area Desc of Construction: Culvert Cleaning & Lining County: Hand, Spink Unit Price Unit Price No. Item No. Description Qty Unit Amount Amount 26 450E9726 30" Fold and Form PVC Liner Pipe 61.000 Ft \$237.50 \$14,487.50 \$0.00 \$0.00 27 450E9524 24" Cured in Place Pipe 47.000 Ft \$0.00 \$0.00 \$170.00 \$7,990.00 28 450E9724 24" Fold and Form PVC Liner Pipe 47.000 Ft \$178.60 \$8,394.20 \$0.00 \$0.00

Total Bid Amount \$54,438.20 \$71,070.25

Letting Date: 06/17/2020

Item Nbr: 3 PCN: 06EJ

Project No: P 0013(53)

Project Location: Various Locations Throughout the Huron Area Desc of Construction: Culvert Cleaning & Lining

Bidder:

Municipal Pipe Tool

Bidder:

07/16/2020

Page 3 of 4

	of Constructio ty: Hand, Spin	n: Culvert Cleaning & Lining k					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Mobilization	1.000 LS	\$29,500.00	\$29,500.00		
2	110E0500	Remove Pipe Culvert	2.000 Ft	\$315.00	\$630.00		
3	110E0510	Remove Pipe End Section	4.000 Each	\$525.00	\$2,100.00		
4	110E1690	Remove Sediment	2.000 CuYd	\$105.00	\$210.00		
5	110E7500	Remove Pipe for Reset	18.000 Ft	\$105.00	\$1,890.00		
6	110E7510	Remove Pipe End Section for Reset	2.000 Each	\$787.50	\$1,575.00		
7	450E5211	18" CMP Flared End, Furnish	4.000 Each	\$367.50	\$1,470.00		
8	450E5212	18" CMP Flared End, Install	4.000 Each	\$787.50	\$3,150.00		
9	450E8900	Cleanout Pipe Culvert	2.000 Each	\$1,400.00	\$2,800.00		
10	450E8910	Cleanout for Culvert Treatment	4.000 Each	\$240.00	\$960.00		
11	450E9000	Reset Pipe	18.000 Ft	\$105.00	\$1,890.00		
12	450E9001	Reset Pipe End Section	2.000 Each	\$892.50	\$1,785.00		
13	634E0010	Flagging	75.000 Hour	\$28.99	\$2,174.25		
14	634E0110	Traffic Control Signs	356.000 SqFt	\$1.10	\$391.60		
15	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$9,000.00	\$9,000.00		
16	734E0010	Erosion Control	1.000 LS	\$3,675.00	\$3,675.00		
17	734E0154	12" Diameter Erosion Control Wattle	200.000 Ft	\$6.30	\$1,260.00		
18	734E0602	Low Flow Silt Fence	200.000 Ft	\$10.50	\$2,100.00		
19	734E0610	Mucking Silt Fence	13.000 CuYd	\$105.00	\$1,365.00		
20	734E0620	Repair Silt Fence	50.000 Ft	\$10.50	\$525.00		
21	450E9518	18" Cured in Place Pipe	62.000 Ft	\$125.00	\$7,750.00		
22	450E9718	18" Fold and Form PVC Liner Pipe	62.000 Ft	\$0.00	\$0.00		
23	450E9518	18" Cured in Place Pipe	70.000 Ft	\$120.00	\$8,400.00		
24	450E9718	18" Fold and Form PVC Liner Pipe	70.000 Ft	\$0.00	\$0.00		
25	450E9526	30" Cured in Place Pipe	61.000 Ft	\$189.00	\$11,529.00		

		South Dakota Department of T Abstract of Bids	•				07/16/2020	Page 4 of 4
Item I Proje Proje Desc		PCN: 06EJ (53) arious Locations Throughout the Huron Area on: Culvert Cleaning & Lining			<b>Bidder:</b> Municipal Pipe Toc	la	Bidder:	
No.	Item No.	Description	Qty	Unit	Unit Price	Amount	Unit Price	Amount
26	450E9726	30" Fold and Form PVC Liner Pipe		61.000 Ft	\$0.00	\$0.00		
27	450E9524	24" Cured in Place Pipe		47.000 Ft	\$220.00	\$10,340.00		
28	450E9724	24" Fold and Form PVC Liner Pipe		47.000 Ft	\$0.00	\$0.00		

**Total Bid Amount** 

\$106,469.85

Letting Date: 06/17/2020

Item Nbr: 4 PCN: 06E9

Project No: NH-P 0011(114)

Project Location: Various Locations Throughout the Aberdeen Area

Desc of Construction: Culvert Cleaning & Lining

Bidder:

Hydro Klean LLC

Bidder:

07/16/2020

SUBSURFACE, INC.

Page 1 of 4

		n: Culvert Cleaning & Lining /, Edmunds, Faulk, Marshall, Spink					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Mobilization	1.000 LS	\$2,500.00	\$2,500.00	\$34,325.00	\$34,325.00
2	110E0500	Remove Pipe Culvert	24.000 Ft	\$10.41	\$249.84	\$150.00	\$3,600.00
3	110E0510	Remove Pipe End Section	22.000 Each	\$125.00	\$2,750.00	\$250.00	\$5,500.00
4	110E1690	Remove Sediment	1.000 CuYd	\$250.00	\$250.00	\$100.00	\$100.00
5	110E7510	Remove Pipe End Section for Reset	2.000 Each	\$125.00	\$250.00	\$350.00	\$700.00
6	230E0020	Contractor Furnished Topsoil	10.000 CuYd	\$75.00	\$750.00	\$150.00	\$1,500.00
7	450E2024	30" RCP Flared End, Furnish	4.000 Each	\$951.10	\$3,804.40	\$600.00	\$2,400.00
8	450E2025	30" RCP Flared End, Install	4.000 Each	\$250.00	\$1,000.00	\$400.00	\$1,600.00
9	450E4759	18" CMP 16 Gauge, Furnish	6.000 Ft	\$15.67	\$94.02	\$50.00	\$300.00
10	450E4760	18" CMP, Install	6.000 Ft	\$41.66	\$249.96	\$80.00	\$480.00
11	450E5211	18" CMP Flared End, Furnish	8.000 Each	\$154.29	\$1,234.32	\$180.00	\$1,440.00
12	450E5212	18" CMP Flared End, Install	8.000 Each	\$125.00	\$1,000.00	\$250.00	\$2,000.00
13	450E5215	24" CMP Flared End, Furnish	6.000 Each	\$128.89	\$773.34	\$280.00	\$1,680.00
14	450E5216	24" CMP Flared End, Install	6.000 Each	\$41.66	\$249.96	\$250.00	\$1,500.00
15	450E5219	30" CMP Flared End, Furnish	2.000 Each	\$271.95	\$543.90	\$550.00	\$1,100.00
16	450E5220	30" CMP Flared End, Install	2.000 Each	\$125.00	\$250.00	\$350.00	\$700.00
17	450E5318	36" CMP Sloped End, Furnish	4.000 Each	\$856.90	\$3,427.60	\$900.00	\$3,600.00
18	450E5319	36" CMP Sloped End, Install	4.000 Each	\$62.50	\$250.00	\$600.00	\$2,400.00
19	450E5802	18" CMP Arch Flared End, Furnish	2.000 Each	\$117.70	\$235.40	\$200.00	\$400.00
20	450E5803	18" CMP Arch Flared End, Install	2.000 Each	\$125.00	\$250.00	\$150.00	\$300.00
21	450E8900	Cleanout Pipe Culvert	15.000 Each	\$250.00	\$3,750.00	\$1,800.00	\$27,000.00
22	450E8910	Cleanout for Culvert Treatment	30.000 Each	\$250.00	\$7,500.00	\$1,500.00	\$45,000.00
23	450E9001	Reset Pipe End Section	2.000 Each	\$250.00	\$500.00	\$500.00	\$1,000.00
24	450E9536	60" Cured in Place Pipe	85.000 Ft	\$390.55	\$33,196.75	\$700.00	\$59,500.00
25	450E9630	42" Cured in Place Arch Pipe	164.000 Ft	\$176.07	\$28,875.48	\$375.00	\$61,500.00

Letting Date: 06/17/2020

Item Nbr: 4 PCN: 06E9

Project No: NH-P 0011(114)

Project Location: Various Locations Throughout the Aberdeen Area

Desc of Construction: Culvert Cleaning & Lining

Bidder:

Hydro Klean LLC

Page 2 of 4

Bidder:

07/16/2020

SUBSURFACE, INC.

		n. Curvert Cleaning & Lining r, Edmunds, Faulk, Marshall, Spink					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
26	450E9632	48" Cured in Place Arch Pipe	82.000 Ft	\$230.05	\$18,864.10	\$500.00	\$41,000.00
27	634E0010	Flagging	200.000 Ho	our \$28.99	\$5,798.00	\$28.99	\$5,798.00
28	634E0110	Traffic Control Signs	356.000 Sc	qFt \$7.02	\$2,499.12	\$2.20	\$783.20
29	634E0120	Traffic Control, Miscellaneous	1.000 LS	\$2,500.00	\$2,500.00	\$6,000.00	\$6,000.00
30	734E0010	Erosion Control	1.000 LS	\$500.00	\$500.00	\$10,000.00	\$10,000.00
31	734E0154	12" Diameter Erosion Control Wattle	400.000 Ft	\$2.25	\$900.00	\$3.00	\$1,200.00
32	734E0602	Low Flow Silt Fence	500.000 Ft	\$1.79	\$895.00	\$2.00	\$1,000.00
33	734E0610	Mucking Silt Fence	35.000 Cu	uYd \$62.50	\$2,187.50	\$10.00	\$350.00
34	734E0620	Repair Silt Fence	100.000 Ft	\$2.50	\$250.00	\$2.00	\$200.00
35	450E9518	18" Cured in Place Pipe	328.000 Ft	\$0.00	\$0.00	\$155.00	\$50,840.00
36	450E9718	18" Fold and Form PVC Liner Pipe	328.000 Ft	\$115.90	\$38,015.20	\$0.00	\$0.00
37	450E9524	24" Cured in Place Pipe	900.000 Ft	\$0.00	\$0.00	\$170.00	\$153,000.00
38	450E9724	24" Fold and Form PVC Liner Pipe	900.000 Ft	\$178.60	\$160,740.00	\$0.00	\$0.00
39	450E9526	30" Cured in Place Pipe	272.000 Ft	\$0.00	\$0.00	\$230.00	\$62,560.00
40	450E9726	30" Fold and Form PVC Liner Pipe	272.000 Ft	\$248.75	\$67,660.00	\$0.00	\$0.00
41	450E9528	36" Cured in Place Pipe	322.000 Ft	\$0.00	\$0.00	\$250.00	\$80,500.00
42	450E9728	36" Fold and Form PVC Liner Pipe	322.000 Ft	\$261.25	\$84,122.50	\$0.00	\$0.00
43	450E9618	18" Cured in Place Arch Pipe	62.000 Ft	\$0.00	\$0.00	\$160.00	\$9,920.00
44	450E9818	18" Fold and Form PVC Arch Liner Pipe	62.000 Ft	\$115.90	\$7,185.80	\$0.00	\$0.00
45	450E9628	36" Cured in Place Arch Pipe	58.000 Ft	\$0.00	\$0.00	\$240.00	\$13,920.00
46	450E9828	36" Fold and Form PVC Arch Liner Pipe	58.000 Ft	\$261.25	\$15,152.50	\$0.00	\$0.00

**Total Bid Amount** \$696,696.20 \$501,204.69

Letting Date: 06/17/2020

Item Nbr: 4 PCN: 06E9

Project No: NH-P 0011(114)

Project Location: Various Locations Throughout the Aberdeen Area

Bidder:

Municipal Pipe Tool

Bio

07/16/2020

Page 3 of 4

		n: Culvert Cleaning & Lining v, Edmunds, Faulk, Marshall, Spink					
No.	Item No.	Description	Qty Unit	Unit Price	Amount	Unit Price	Amount
1	009E0010	Mobilization	1.000 LS	\$98,000.00	\$98,000.00		
2	110E0500	Remove Pipe Culvert	24.000 Ft	\$63.00	\$1,512.00		
3	110E0510	Remove Pipe End Section	22.000 Each	\$367.50	\$8,085.00		
4	110E1690	Remove Sediment	1.000 CuYd	\$105.00	\$105.00		
5	110E7510	Remove Pipe End Section for Reset	2.000 Each	\$367.50	\$735.00		
6	230E0020	Contractor Furnished Topsoil	10.000 CuYd	\$168.00	\$1,680.00		
7	450E2024	30" RCP Flared End, Furnish	4.000 Each	\$1,837.50	\$7,350.00		
8	450E2025	30" RCP Flared End, Install	4.000 Each	\$682.50	\$2,730.00		
9	450E4759	18" CMP 16 Gauge, Furnish	6.000 Ft	\$42.00	\$252.00		
10	450E4760	18" CMP, Install	6.000 Ft	\$68.25	\$409.50		
11	450E5211	18" CMP Flared End, Furnish	8.000 Each	\$157.50	\$1,260.00		
12	450E5212	18" CMP Flared End, Install	8.000 Each	\$682.50	\$5,460.00		
13	450E5215	24" CMP Flared End, Furnish	6.000 Each	\$210.00	\$1,260.00		
14	450E5216	24" CMP Flared End, Install	6.000 Each	\$682.50	\$4,095.00		
15	450E5219	30" CMP Flared End, Furnish	2.000 Each	\$472.50	\$945.00		
16	450E5220	30" CMP Flared End, Install	2.000 Each	\$735.00	\$1,470.00		
17	450E5318	36" CMP Sloped End, Furnish	4.000 Each	\$1,575.00	\$6,300.00		
18	450E5319	36" CMP Sloped End, Install	4.000 Each	\$787.50	\$3,150.00		
19	450E5802	18" CMP Arch Flared End, Furnish	2.000 Each	\$210.00	\$420.00		
20	450E5803	18" CMP Arch Flared End, Install	2.000 Each	\$682.50	\$1,365.00		
21	450E8900	Cleanout Pipe Culvert	15.000 Each	\$1,400.00	\$21,000.00		
22	450E8910	Cleanout for Culvert Treatment	30.000 Each	\$300.00	\$9,000.00		
23	450E9001	Reset Pipe End Section	2.000 Each	\$525.00	\$1,050.00		
24	450E9536	60" Cured in Place Pipe	85.000 Ft	\$690.00	\$58,650.00		
25	450E9630	42" Cured in Place Arch Pipe	164.000 Ft	\$450.00	\$73,800.00		

### 07/16/2020 Page 4 of 4 South Dakota Department of Transportation Abstract of Bids Letting Date: 06/17/2020 Bidder: Bidder: Item Nbr: 4 PCN: 06E9 Municipal Pipe Tool Project No: NH-P 0011(114) Project Location: Various Locations Throughout the Aberdeen Area Desc of Construction: Culvert Cleaning & Lining County: Brown, Day, Edmunds, Faulk, Marshall, Spink No. Item No. Description Qty Unit Unit Price Amount Unit Price Amount 82.000 Ft 26 450E9632 48" Cured in Place Arch Pipe \$505.00 \$41,410.00 27 634E0010 200.000 Hour \$28.99 \$5,798.00 Flagging 356.000 SqFt 28 634E0110 Traffic Control Signs \$0.55 \$195.80 29 634E0120 Traffic Control, Miscellaneous 1.000 LS \$12,000.00 \$12,000.00 30 734E0010 **Erosion Control** 1.000 LS \$10,500.00 \$10,500.00 31 734E0154 12" Diameter Erosion Control Wattle 400.000 Ft \$5.25 \$2,100.00 32 734E0602 Low Flow Silt Fence 500.000 Ft \$10.50 \$5,250.00 33 734E0610 Mucking Silt Fence 35.000 CuYd \$105.00 \$3,675.00 34 734E0620 100.000 Ft \$10.50 \$1,050.00 Repair Silt Fence

328.000 Ft

328.000 Ft

900.000 Ft

900.000 Ft

272.000 Ft

272.000 Ft

322.000 Ft

322.000 Ft

62.000 Ft

62.000 Ft

58.000 Ft

\$112.00

\$132.00

\$180.00

\$250.00

\$145.00

\$290.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

35

36

37

38

39

40

41

42

43

44

45

46

450E9518

450E9718

450E9524

450E9724

450E9526

450E9726

450E9528

450E9728

450E9618

450E9818

450E9628

450E9828

18" Cured in Place Pipe

24" Cured in Place Pipe

30" Cured in Place Pipe

36" Cured in Place Pipe

18" Fold and Form PVC Liner Pipe

24" Fold and Form PVC Liner Pipe

30" Fold and Form PVC Liner Pipe

36" Fold and Form PVC Liner Pipe

18" Fold and Form PVC Arch Liner Pipe

36" Fold and Form PVC Arch Liner Pipe

18" Cured in Place Arch Pipe

36" Cured in Place Arch Pipe

58.000 Ft

Total Bid Amount

\$16,820.00

\$36,736.00

\$118,800.00

\$48,960.00

\$80,500.00

\$8,990.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00

\$0.00